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QUESTION 1

Click the Exhibit button. 

A customer has asked if the Communication Server 1000 RIs. 7 x system can provide Exchange users 

with the ability to selectively drop people that have been added to a conference. Based on the print-outs, 

what capabilities are currently available to the user of extension 2006? 

A. The user cannot see the conferee display count or selectively disconnect callers. 

B. Theuser can see the conferee display count and can selectively disconnect callers. 

C. The user can see the conferee display count but cannot selectively disconnect callers. 

D. The user cannot see the confereedisplay count butselectively disconnect callers. 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 
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A customer requires that Distinctive Ringing on a route be allowed. Which programming within the Customer Data Block
(LD 15) indicates the number of times the call receive a distinctive ring before redirection? 

A. RNGO, RNG1, RNG2 

B. FNA0, FNA1, and FNA2 
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C. DFN0, DFN1, and DFN2 

D. CRTO, CRT1, and CRT2 

Correct Answer: C 

 

QUESTION 3

With Automatic On-Net to Off-Net Overflow, if all on-net facilities such as TIE trunks between locations are busy, NARS
can convert a dialed UDP number to a Listed Directory Number of the applicable DID number at that location and use
off-net facilities, such as CO trunks, to complete the call. When provisioning Automatic On-Net to Off-Net Overflow,
which parameter is not correct? 

A. Only oneListed Directory Number can be defined per Location Code (LOC). 

B. Multiple NPAs per Location Code are allowed. 

C. Multiple NXXcodes per Location Code can be defined. 

D. Multipleranges of DNs within each NXX per Location Code can he defined. 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. 
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An employee at a company is placing a call to telephone number 214-774-3299. The employee, believing 

this is a toll call, dials 9-1-214-774-3299. However, this call is a local call. 

Access Code 1 = 9 

The Central Office utilizes a 7-digital dialing plan. 

Given the DMI indexes programmed into this Communication Server 1000 shown in the exhibit, which DMI 

would be used to modify the dialed digits to outpulse the correct digits to the Central Office? 

A. DMI Table 1 

B. DMI Table 2 

C. DMI Table 3 
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D. DMI Table 4 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 

Given a company\\'s dialing plan shown in the exhibit, if a station user at the company in New York City dials
8-890-4233, what will happen to the call? 

A. The Access Code of 8 will be removed and the call will complete over Route List Index# 1. 

B. The call will receiveintercept treatment as indicated in the Customer Data Block (CDB) and fail to complete. 
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C. The NARS software will remove the Access Code and Location Code and terminate the call internally at Directory
Number 4233 

D. The Access Code of 8 will be removed andthe call will completeover RouteList Index #0. 

Correct Answer: D 

 

QUESTION 6

Click the Exhibit button. 

Consider a customer\\'s dialing plan and programming shown in the exhibit. Assuming all required Route List indexes
have been programmed, why will the station call of 6-544- 3333 not complete? 

A. ACI Access Code was not dialed. 

B. NXX 544 is not provisioned in the customer\\'s database 

C. 3333 is Denied under the SDRR programming 

D. AC2 Access Code was not dialed 

Correct Answer: B 
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QUESTION 7

A customer site has a Communication Server 1000 system located at us main campus and wants to network me system
for direct calls with a system in a different city. Which type of steering code is required to route calls over specify trunk
routes between the two sites? 

A. Distant SteeringCode (DSC) 

B. Remote Steering Code (RSC) 

C. Network Plan Area (NPA) 

D. Special Number (SPN) 

Correct Answer: A 

 

QUESTION 8

Which functionality do TIE trunks provide? 

A. connects atelephone companies\\' central officeand the PBX of a customer 

B. connects two different PBXs, whether In the same budding or farther away 

C. allows an outside caller to dial a station on a PBX directory 

D. provide incoming or outgoing service only, and not acombination of incoming/outgoingconnections 

Correct Answer: B 

 

QUESTION 9

An enterprise has a network with Communication Server 1000E systems running RIs 7 x IP Peer Network. For this
network, when are the Digital Signal Processor (DSP) resources required? 

A. when a compressedmediachannel is required without circuit switching 

B. when interworkingis necessary to third-party SIP-enabled products 

C. when it isnecessarytotranscode between IP and circuit-switched devices 

D. wheninterworking is necessary to third-party H.323-enabled products 

Correct Answer: C 

 

QUESTION 10

You are responsible for maintaining the Communication Server (CS) 1000E release 7 x system installed at your
customer\\'s district office. They would like to use Corporate Directory Feature are accurate? (Choose two) 
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A. The Corporate Directory application obtains information directlyfrom the CS 1000 database to create the Corporate
Directory Report File. 

B. The Corporate Directory application obtains information Subscriber and Telephony account information from
SubscriberManger and compiles it into a Corporate Directory Report File. 

C. All information files required for generating Corporate Directory must be published in the LDAP directory. 

D. All information files required for generating Corporate Directory must be published in the Common Network Directory
(CND). 

Correct Answer: BD 

 

QUESTION 11

You are using Element Manager to program a Route List Index (RLI). Which Electronic Switched Network (ESN)
parameters must you define to be able to successfully program an RLI? 

A. Routing Control (PTCL) 

B. OptimalRoute (OPRT) 

C. Maximumnumber of route lists (MXRL) 

D. Minimum number of route lists (MNRL) 

Correct Answer: C 

 

QUESTION 12

Click the Exhibit button. 
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Refer to the customer\\'s dialing plan and programming show in the exhibits. Assuming all required Route List Indexes
have been programmed, why will the station user\\'s dialed call of 8-1-717-398-8001 not complete? 

A. AC2 Access Code was not dialed 

B. NPA1717isnot provisioned in the customer\\'s database 

C. 398-8001 would be denied under the SDRR programming 

D. AC1 AccessCodewas not dialed 

Correct Answer: C 

 

QUESTION 13

Click the Exhibit button. 
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A customer requires that two of its employees be able to place toll calls to Australia, while all other employees are
restricted to local dialing only. The customer\\'s Communication Server 1000 is programmed with all required NCOS,
FRL and Route List Index (RLI). What is the most restrictive NCOS to assign to the two employees required to make toll
call Australia given the tables, assuming that the call must complete over RLI 2 and the user must be able to use any
RLI 2 entry to reach Australia? 

A. NCOS 1 

B. NCOS 2 

C. NCOS 3 

D. NCOS 4 

E. NCOS 5 

Correct Answer: E 
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QUESTION 14

For a situation where you use the CDP feature at a switch equipped with the MARS software package, which statement
are correct? (Choose two) 

A. Use steering codes tor CDP calls that are the same as the assignedNARS Access Cades. 

B. Use steering codes tor CDP calls that aredistinct from thoseassigned NARS Access Cades. 

C. You can integrate CDP numbers with the NARS Uniform Dialing Plan (UDP). 

D. Youcannot shareRoute Lists,Digit Manipulation tables and Time-of-Day schedule withNARS. 

Correct Answer: BC 

 

QUESTION 15

Click the Exhibit button. 

A customer wants to allow a station user to save an incoming number (Off-Net, Local Number) to their Personal
Directory and afterwards use it to place an outgoing call without having to perform an manual manipulation to the
number. Consider the customer dialing plan shown in the exhibit. Communication Server 1000 is configured for DAPC =
YES in the Route Data Block. 

With reference to the DAPC Table options in the exhibit, which Dial Access Prefix on CLID (DAPC) table should be
used? 

A. Table 1 
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B. Table 2 

C. Table 3 

D. Table 4 

Correct Answer: C 
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